
BETWEEN ERGATIVE AND ACCUSATIVE SYNTAX: 
LESSONS FROM NISGHAIENGLISH SYNTACTIC INTERFERENCE* 

Marie-Lucie Tarpent 
Bilingual/Bicultural Centre, School District 92 (Nlsgha) 

Which of transitive subject (Agent> or object can be deleted under Identity 
with a previously mentioned nominal Is a crucial test of syntactic 
accusatlvlty or ergatlvlty. In this respect, English, which Is syntactically 
accusative, and Nlsgha, which Is syntactically ergative, behave as textbook 
111ustratlons, with no common ground. This fact creates problems, both for 
b111ngual speakers In trying to translate from one language Into the other, 
and for the unwary Investigator, who has to be able to distinguish between 
what Is true language, and what can be attributed to Interlanguage 
phenomena arising from Interference between two Incompatible systems. 

The subject of this paper Is therefore twofold: Its major purpose Is to 
provide a description of an aspect of Nlsgha, thereby contributing to 
linguistic knowledge about a language wIth syntactic ergatlvlty. The 
persistence of Nlsgha syntactic patterns allen to English, when clothed In 
English words, confirms that the basic principle underlying Nlsgha syntax Is 
not the same as that underlying English syntax. Secondarily, this paper also 
111ustrates how 'the presence of the observer affects the outcome of the 
experlment'--how an Investigator's method may unwittingly but crucially 
affect the data. Eliciting through translation Is fraught with pitfalls If the 
sentences to be translated do not mean the same to the translator as to the 
Invest Igator. 

Before proceedIng any further, It Is necessary to define ergatlvlty: In the 
past few years this formerly obscure though well-defined term has emerged 
Into the limelight, with very confusing results as different definitIons vie 
for acceptance. The definitIon used here Is the traditional one accordIng to 
Kury.fowlcz, ComrIe, DIxon, and several other specialists In ergative 
languages. The term 'ergatlvlty' Is applied to a precise linguIstic complex, 
the central element of which Is the marking of the transitive Agent 
dIfferently from, and usually more strongly than, the transitIve Object and 
the IntransItive Subject, whIch are marked by the same means. ThIs 
contrasts with the IdentIficatIon of transitIve Agent with Intransitive 
Subject, contrastIng wIth the specIally marked transitIve Object, In the 
accusatIve languages, a group whIch Includes most European languages. 
These morphologIcal phenomena usually have deeper syntactic repercussIons 
as well, one of them beIng whIch of Agent or Object Is deleted under IdentIty 

with an Item In a previous clause: a syntactically accusative language 
deletes the less marked Agent, but not the specIally marked Object; a 
syntactically ergative language deletes the less marked Object, but not the 
specially marked Agent. 

A very different model has been recently proposed by Marantz as 'the 
Ergatlvlty Hypothesis' (1981); unlike the traditional definitIon which gave a 
name to a complex of facts observed In a number of languages, this model 
derives a new definition of what ergatlvlty should mean, from the 
Government and Binding framework. Having redefined the term on theoretIcal 
grounds, Marantz then decides whether a language fits his definitIon. As It 
turns out, very few of the languages hitherto considered ergative fit the new 
crIteria. 

That Nlsgha Is syntactically ergative according to the traditional definition 
was first shown by RIgsby 1975, and the Identification was confirmed In 
more detail by Tarpent 1982, whIch briefly mentions deletIon under Identity 
as part of a revIew of the traditional criteria of syntactic ergatlvlty, 
showing that they apply to Nlsgha. The conclusions In both these papers have 
been criticized by Belvin (1984, 1985) as showing that Nlsgha Is not 
syntactically ergatlve--accordlng to Marantz. Actually, Belvin confirms 
Tarpent's traditional Interpretation by default,l except In the case of 
deletion under Identlty--one of the few traditional criteria retained by 
Marantz--for which he gives (1984) countering data which are, as will be 
shown, Inacceptable as evidence (see below p. 9). 

Here I propose to gIve two kinds of data as proof that Nlsgha does delete 
accordIng to any definItion of ergatlvlty: first, spontaneous Nlsgha data (as 
opposed to those elicited by translatIon), and second, Interlanguage data 
which show bilinguals' attempts to cope with the differences between the 
two languages. It w111 be shown that Nlsgha-Influenced English continues 
the ergative syntactIc pattern of Nlsgha. 

1 CondItIons of deletion under IdentIty: 

In an accusative language, such as English, the transItIve Agent (A) Is 
deleted under Identity with the transitive Agent or Intransitive Subject (S) 
of a prevIous clause. 

In an ergative language, such as Nlsgha, the (transitive) Object (0) Is deleted 
under Identity with the 0 or S of a previous clause. 
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II Agent deleted In English. Agent pronoun In Nlsgha: 

Where English deletes the second clause Agent (A2) If Identical to the first 

clause Agent (AI) or Subject (S 1)' the Nlsgha equivalents must Include an 

ergative (Agent> clltlc pronoun In the second, dependent clause, whether or 
not a noun Agent Is present as well.2 Note that the Nlsgha transitive 
clauses with the verb In Initial position have primary stress on verb and 
nominal Object, secondary stress on nominal Agent. The stress pattern for 
verb and nominal Object does not change If there Is no nominal Agent, only 
the clltlc pronoun. 

111 English A2 deleted If Identical to A1: 

(I) Ma? loves fish and hates meat. 
5/iIt'lnS Ifarynl noon iit.llas!, 'annl smax. 3 

xl(i-(t)?n-[o)=s It) mn=l h6:n ?I:-t q~sq-?n=lsm~x4 
sweet-CAUS-[CTL)=DC [OM) M.-NC fish and-3ERG bltter-CAUS=NC 

meat5 

(2) What 15 lucy doing? -- Washing out the big pot. 
AglI/)/ jijabis lucy? -- Yllkwl IlIIIyo'okslJl wii anjam. 

?aKu=Yco)cap-o=s It) L.iI.c¥ -- yukw-t lu:=y6?OkS=¥WI: ?anc~m 
what=NC PROG)do,s.-CTL=DC [OM) L. -- AUX-3ERG In ... wash.s.=NC big pot 

112 Engl1sh A2deleted If Identical to S1: 

(3) Mary went In and saw Lucy (Inside the house). 
Ts'in t Ifary iii ga'as Lllcy (ts'im wilp) 

Un t t1M¥ ?\:-t KYa?=s [t) Llkt lim w(IP 
enter OM M. and-3ERG see.s.=DC [DM) L. In house 

(4) Mary was afraid to meet a bear. 
%bifs'axw t Ifary diml saa IlIIIdaltkwlJl smax. 

~Plaxw t ~ tlm-t sa: lu:taltkw=Ysmax 
afraid OM M. FUT - 3ERG possibly meet.s.=NC bear 
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12 Object deleted In Nlsgha, Object pronoun In Engl Ish: 

Where Nlsgha deletes the second clause Object (02) If Identical to the first 

clause Object (°1) or Sub ject (S 1)' the English equivalents must Include an 

accusative (Object) pronoun In the second clause. The Nlsgha stress pattern 
of primary stress on the verb, secondary stress on the Agent noun does not 
Change If there Is no nominal Object. This Is true of both dependent and 
Independent NIsgha clauses. 

121 NIsgha 02 deleted If Identical to 01 

, 
(5) %1 ilt 'ins t1arynl hoon iit ,gas~ 'ans L IICY loot 

Mary loves fish, but Lucy hates It. 

~Iri-(t)?n-[o)=s [t) t1ki=,yh6:n ?I:-t qasq-?n=s [t) Ik¥. 10:-t6 
sweet-CAUS-[CTL)=DC [OM) M. fish and-3ERG bltter-CAUS=DC [DM) L. 

(6) Nigit !liirins LllcylJl hoona? -- Nil. ~'ap,gast..'ant 
Does Lucy like fish? -- No, she absolutely hates It. 

IND-3 

• '6 ,~ 7 nl:-KYI:-t ~I(J-(t)?n=s [t) ~=.r h :n==a -- nl: qap q4:lsq-?n-[a)-t 
not-INT - 3ERG sweet-CAUS=DC [DM) M. flsh==Q -- no absolutely 

bltter-CAUS-[CTL)-3 

(7) Niinl aam ni dim nooxnl wll anjamlna? 
--K'a! lJaWln, Yllkwt IIIIIYo 'oks L IICY. 

Can I use your big cooking pot? 
--Just a minute, Lucy Is washing It. 

nj:=X ?a:m no tim h6:x=) ~I: 1andm-n==a 
not=NC good IS.ERG FUT use.s.=NC big pot-2S==Q 

-- kYax hawrn -- yukW-t lu:=y6?okS=[S) [t)~ 
-- jUsta.minute not.yet -- AUX-3ERG In-wash.s.=(DC) [DM) L. 

122 Nlsgha 02 deleted If identical to S 1: 

(8) Ts'in t Ifary iit gibas Lllcy (galt) 
Mary went In and Lucy waited for her (outside). 
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ern t l1Ml ?I:-t kYlp~=s ttl Lucy (kYalQ) 
enter DM M. and-3ERG walt. for.s. =DC [DM] L. outside 

(9) Hawinlll ksaxws Narya? 
--Hawin,' kay 1l;Y(Jkwt gibas L(Jcy (galt) 

Did Mary come out yet? 
--Not yet; Lucy Is st111 waiting for her (outside). 

ha~'n=nsaxw=s [tJ rUr¥==(y)a 
not.yet=NC gO.out=DC [DMJ M.==Q 

-- haMn -- Qay hOyukW-t kYIP~=S [tJ &y. (kYalQ) 
-- not.yet -- st111 PROG)AUX-3ERG walt.for.s.=DC [DMJ L. (outside) 

, 
(10) Ndalll wilsNary? -- Hats'dilll w/i (Js. 

What happened to Mary? -- A big dog bit her. 

nta=.rwll=s (t] ~ -- hac-t-a=,rl wi: ?us 
which. way=NC do=DC [DMJ M. -- blte.s. -CTl -CTl =NC big dog 

0.0+ 

(11) Sim xbitsaxw t Nary Illaat Ilats'illl wii (Js. 
Marywas really scared when the big dog bit her. 

slm xplcaxw t M~ry la:-t h~c-a=.r" wi: ?us 
really afraid DM M. now-3ERG blte.s.-CTl=NC big dog 

2 ResolVing the potential ambiguity of a single noun In the second clause: 

In the examples In 11 above, the Agent In the second clause (which Is a 
dependent clause) Is the 3ERG pronoun t, and the following noun Is the 
Object. In the examples In 12, (except (II) where the second clause Is 
Independent), the second clause Agent Is represented both by this pronoun 
and by a noun8, and there Is no overt Object. In both cases, then, the 
dependent clause Includes both a 3ERG pronoun, and a single noun, which may 
or may not corefer with the pronoun. 

For Instance, given the complete sentence: 

(12) r(Jkwt gibasNary t L(Jcy. 
Mary Is waiting for Lucy. 

YUkW-t kYlpa=s (t) tict t ~ 
AUX-3ERG waIUor.s.=DC [DM] M. OM L. 
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one can omit either the Agent noun (though not the pronoun), thus: 

( 13) rfJkwt gibas L (Jcy. 
She Is waiting for lucy. 

yUkW-t kYlpa=s (tJ ~ 
AUX-3ERG walt.for.s.=DC [OMJ L. 

or the Object noun: 

( 14) r(Jkwt gibas t1ary. 
Mary Is waiting for her. 

YUkW-t kYlpa=s (t]~ 
AUX-3ERG walt.for.s.=OC (OM) M. 

ThIs means that there could be ambiguity as to whether the single noun In a 
dependent transitive clause9 should be Interpreted as the Agent or the 
Object of the verb. 

This ambiguity Is mostly a theoretical possibility: In normal spoken Nlsgha, 
there Is very little cause for ambiguity, first because the stress pattern 
gives stronger stress to Object than Agent, and also because these sentences 
occur In discourse where surrounding utterances, or Internal detailS, make 
the Interpretation clear. However, ambiguity can Indeed occur especially 
under artificial conditions such as writing, which does not Indicate 
differential stress, or elicitation by a linguist, where a speaker's 
deliberately slow and careful delivery of sentences often devoid of 
meaningful context may Interfere with the normal stress patterns and 
produce ambiguous results. The linguist from an accusative language 
baCkground also has a built-In bias towards Interpreting the single noun as 
the Object. 10 The Question therefore must be addressed. 
There could be ambiguity In the written sentence 

( 15= 14) r(Jkwt gibas Nary. 

which could mean either: 

(a) S/he Is waiting for Mary, 
or (b) Mary Is waiting for him/her. 

In normal spoken Nlsgha, there Is no ambiguity, even out of context, since the 
Agent noun has weaker stress than the verb and the Object: 
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(15a) yukw-t kYlpa=s It] ~ (~Is the Object) 
AUX-3ER6 waIUor.s.=DC [DM] M. 

(15b= 14) yukw-t kYlpa=s It) ~ (tlar.¥ Is the Agent> 

In written NIsgha. the sentence Is Indeed ambIguous, but Improbable as It 
seems to a person used to the accusatIve pattern, It Is more likely to be 
Interpreted as (b) than (a): If anImate, the SIngle noun followIng the verb Is 
more likely to be taken as the co-referrIng Agent than the Object. (The 
appendIx below gIves a sample of sentences from a story. ShowIng the 
relative frequency of the two Interpretations). 

Where the Object Is InanImate, ambIguIty Is rarely possIble, even In wrItIng. 
For Instance, startIng from the complete sentence 
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(16) Yilkwt lilVY0'oks Lileynl wff anjam. 
Lucy Is waShIng out the bIg pot. 

yukW-t lu:=y6?OkS=[S) It] ~=.rWI: ?ancam 
AUX-3ERG In=wash.s.=[DC) [OM) L.=NC bIg pot 

It Is obvIous that It Is the Agent noun that Is omitted In 

(17) Yilkwt IlIlIyo'oksnl J,ff an jam. 
She Is washIng out the bIg pot. 

yukW-t lu:=y6?Oks=.rWI: ?ancam 
AUX-3ERG In=wash.s.=NC bIg pot 

and the Object noun In 

(18) Yilkwt /lIlIyo'oks Liley. 
lucy Is washIng It. 

yUkW-t lu:=y6?oksi>]It) ~ 
AUX-3ERG In=wash.s.=(og[DM) L. 

but even an InanImate noun can be Agent, as In: 

(19) [no'oksn/ an'umy wflt mlnlinl sdatx. 
I have a rash on my hand from stinging nettles. (lIt. ." where nettles 

burned It>. 

7 

Xh6'?Oks=X?an?un-y wll-t m(.r-o=.(st~tx 
wlth.rash-NC hand-\ S where-3ER6 burn-CTl -NC nett les 

Yet another source of disambIguatIon whIch does not depend on stress Is 
number agreement between the verb and the Object, not the Agent. I 1 For 
Instance BelvIn (1984:44) gIves the followIng example as supposed proof 
that Nlsgha, like English. deletes the Agent, not the Object: 

(20) l1imt,' t l1ary iit sayt IlIlIdimdahnl k'ubatk'inlkw. (= B's (52» 
Mary smiled and hugged the children. 

m(mq t tt.ar¥ ?\:-t sayt lu:=tlm)tam=lkupa:-tkY(.rkw 12 
smile OM M. and-3ERG together In=PUpress.s.=NC Ilttle.PL -child 

FIrst of all, the Agent Is not deleted. sInce It Is the 3ERG pronoun. Second. 
the verb has the plural form Iilildlmdam Ju:=t1m)t'm, not the sIngular form 
Iilildam Ju:=t'''', agreeIng wIth the plural noun k'ubatnnlkw 
kupa:-t~Y(JkW, whIch Is therefore Its Object. 

With the sIngular form of the verb, the sentence would also be unambIguous. 
sInce the plural noun k'ubatk'flJlkw kupa:-tkY(AW could only be the Agent: 

7 
(21 ) 111m!,' t l1ary 1ft Iilildamnl k 'ubatk 'In/kw. 

Mary smiled and the children hugged her. 

m(mq t tt.ar¥ ?I:-t lu:=tam=..Ykupa:-tkYl.l1<.w 
smile OM M. and-3ERG In=PUpress.s.=NC IIttle.Pl -child 

Note again the difference In stress pattern, whIch Is obvIous In a normal 
conversatIonal tone, but may not be apparent wIth artIfIcIally slow delivery. 
In (22) as In (15) above, the stress pattern Is the only dIfference between 
sentences with a sIngular Agent or Object; however, a Nlsgha speaker readIng 
aloud a sentence like the following line would be more likely to read It as (a) 
(wIth Agent noun) than (b) (Object noun): 

7 

(22) 111m!' t l1ary lit /lIlIdamn/ n/giltk'lnlkw. 
Mary came In ... (a) ... and the child hugged her. 

I 7 I' , 
m lmq t tt.ar¥... ... ?\:-t lu:=tam=X J1<u-tkYlJ1< w 
smile OM M. . .. and-3ERG In=PUpress.s.=NC lIttle-child 

... (b) ... and hugged the child . 
... ?\:-t lu:=tam=% J1<u-tkY(J\<w 
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With a plural animate noun In the first clause, there would be no ambiguity 
either, since the 3ERG Agent pronoun In the second clause Is matched by a 
3PL suffix only when under Identity with a noun In the first clause, as in 
(23b): 

(23) t1im!'tJllJaanat.' (a) ... lit luudlmdamlJl k'ubatk'ilJlkw. 
... and the children hugged them. The women smiled 

m(mq=,r ha:nM 
smlle=NC woman.PL 

... ?I:-t lu:=ttm)ta'm=.rkupa:-tkYh1<w 
... and-3ERG In=PUpress.s.=NC lIttle.PL-chlld 

(b) ... lit luudlmdafndlltlJl k'ubatk'llJlkw. 
... and hugged the children. 

... ?f:-t lu:=t1m)tam-tl:t=YkUpa:-tkY(~W 
... In=PUpress.s.-3PL=NC ... 

To summarize: unless there Is a contextuallodlcatlon to the contrary. the 
sIngle noun following a verb preceded by a 3ERG clltlc pronoun will most 
likely be Interpreted as co-referring with this pronoun and IndIcatIng the 
Agent, rather than the Object. ThIs Is In keepIng with the ergatIve syntactIc 
pattern, whIch deletes the Object but not the Agent. 

3 Interlanguage phenomena: 

The brand of English spoken by most persons of Nlsgha background contaIns 
strong elements of an Interlanguage (here called N-Engllsh) medIating 
between English and Nlsgha, trying to fit English words Into Nlsgha 
grammatical structures and modes of thought. Similarly some blllngual 
speakers asked to translate an English text Into Nlsgha tend to stIck very 
close to English surface structure. resultIng In strange sentences If not In 
misunderstandIngs: these can be called Instances of E-Nlsgha. 

31 N-Engllsh follows Nlsgha In omittIng Object pronouns: 

Since Nlsgha does not always requIre Object pronouns. N-Engllsh does not 
eIther, hence sentences such as 13 

(24) They ran after him and pIcked up (= pIcked him up). 
(25) They heard hIm, but couldn't see (= couldn't see him). 
(26) He heard women giggling beside him and made an attempt to grab (= to 
grab them). 
(27) The children lIke brIght colors, so I like to wear (= wear them). 
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Using an Engllsh Object pronoun In the second clause would sound emphatiC 
to a speaker of N-Engllsh. especially since there are cases where English 
does not use such pronouns: witness wrItten Instructions such as reCipes, 
and new paper headlines and captions, which delete more than the normal 
range of both nouns and pronouns. Nlsgha syntax and English telegraphic 
style converge In sentences such as 

(28) The method of preserving thIs fruIt was to cook until tender, strain, and 
mIx In a mIxture of ool1chan grease and water . 

32 E-Nlsgha follows Engl1sh In addIng Object pronouns: 

AskIng for Nlsgha translatIons of English utterances containing pronouns 
frequently results In Nlsgha sentences contaInIng overt pronouns, as the 
Nlsgha speaker strIves to approxImate the English utterance: to a speaker of 
N-Engllsh, whIch often does not use such pronouns, the Object pronoun 
obligatorily present In a Standard English sentence seems an emphatIc 
addItIon, which must be specIally translated. 

'y , For Instance, asked to translate 6a'ay k A?-a-y , a bl11ngual speaker w1l1 
most likely say 'I saw', even though when the word Is placed In a context 
such as (29), It Is obvIous that an 0 Is Implied and that the proper English 
translation requIres an 0 pronoun: 

(29) Nii mi ga'as l1arya? -- 6a'ay' 

Have you seen Mary? --Yes. (lIt. I saw her) 

nl: ma kY~?=s tib==(y)a -- kY~?-a-y 
not 2S.ERG see.s.=DC M.==Q -- see.s.-CTL -1 S 

Conversely, asked to translate I saw her (especIally out of context>, a 
bilIngual speaker Is likely to Interpret thIs as emphatIc: I saw her.. and to 
add to the sentence the thIrd person singular pronoun Mt, thus 

, '. (30) 6a'aymt 

kYa'?-a-y Mt 
see.s.-CTL -1 S h. 

even though this sentence would not be uttered spontaneously: 14 In normal 
Nlsgha dIscourse, hft Is emphatiC and used almost only In InItial, focused 
posit Ion, 15 as In 

10 
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(31) Nithlgaay 
That's who I saw, that's the one I saw, I saw him/her 

i)(t=nYa7-()-y 
h.=NC see.s.-CTL-lS 

Similarly, asked to translate lucy Is wattlng for her, a bll1ngual speaker 
Is likely to say 

(32) Yukwt gibas L.ucy nit 

yukW-t kYlpi=s [tl ~ Ut 
AUX-3ERG walt.for.s.=DC (DM] L. h. 

rather than Yukwt gibas L.ucy which would be the spontaneous utterance, for 
Instance In answer to a question (as In (9) or (15». 

The major differences between the two languages, and the Inter language 
phenomena, can be summarized in the following chart: 

Standard Nlsgha ================ Standard Engl1sh 
, 

6a'ay 

l ~ 
Nithlga'ay 

I saw him/her 

I saw him/her (emphatic), 
that's who I saw 

Standard English --------------) E-Nlsgha 

I saw him/her 
, , . 

6a ay nit 

Standard Nlsgha ------------- -) N-Engllsh 
, 

6aay I saw 

33 N-Engllsh {ollows Nlsgha 10 deleting S2: under Identity with 02: 

The major characteristic of the ergative syntactic pattern Is the 
Identification of Intransitive Subject and transitive Object In opposition to 
the transitive Agent. This Is carried over In N-Engl1sh, which deletes the 
Subject of the second clause under Identity with the Object, not the Subject 
or Agent, of the previous clause. Consider the following Standard English 

11 

examples: 

(33) He washed and dried the dishes. 
A2 omitted (=A I ), 01 omitted (=02) 

(34) He washed the dishes and dried them. 
A2 omitted (=A\), 02 (=01 )Is a pronoun 

(English 02 cannot be omitted) 

Both these sentences are equivalent to the single Nlsgha sentence 16 

(35) Yoo'oksithl no'ohl iit limlimkt 

y6:70ks-()-t=% n67o.1' 71:-t 11m I (mkY-t 
wash.s.PL -CTL -3=NC dishes and-3ERG wlpe.s.PL -3 

where the Object noun Is obligatorily In the first clause. A2 and 02 are both 

Indicated by pronouns, but the 02 pronoun Is a suffix, not a separate word: 

there Is no single word referring to the Object In the second clause. 

It Is not possible to omit the 01 noun or replace It by a coreferent pronoun: 

the sentence 

(36) Yoo'oksit iit limlimkhl no'ohl. 

Is only grammatical If It means: 

(37) He washed them! and (he) dried the dlshesj" 

where them Is understood to refer to another Object than dishes 

In N-Engllsh, as In Nlsgha, only one sentence Is possible as a translation of 
(35): 

(38) He washed the dishes and he dried (= he dried them) 

which omits the English 02 pronoun, but not the A2 pronoun, as Is normal In 

ergat Ive syntax (see 12 above). 

Now consider the following sentence: 

(39) He washed the dishes and they dried. 

12 



To a speaker of Standard EnglIsh, the Subject pronoun tlley In the second 
clause (52) can only refer to the Object noun In the first clause (0,): the 
dishes dried. But to a speaker of N-Engllsh, the use of tlley In the second 
clause IndIcates, not co-reference wIth 0

" 
but a second clause Agent (A2): 

the meanIng of (39) Is Interpreted as: 

(39a) He washed the dIshes and they [other peoplel drIed them. 

The N-Engllsh equIvalent of (39) Is 

(40) He washed the dIshes and drIed (= and they drIed) 

whIch omIts the S2 pronoun under IdentIty wIth the 01 noun, as Is normal In 

ergatIve syntax. 

The same deletIon of S2 under IdentIty wIth 01 Is dIsplayed In the followIng 

examples: 

(41) Ask for It and w111 be gIven to you (= and It will be gIven .. J. 
(42) Huge log jams plied on the rock, but remaIned put (= It remaIned put>. 
(43) The other chlldren were acquaIntIng hIm wIth hIs new surroundIngs 
and felt accepted (= and he felt accepted). 

4 ConcludIng remarks: 

The evIdence of deletIon under Identity In both spontaneous Nlsgha 
utterances and Nlsgha-Influenced English shows that Nisgha follows 
syntactIc patterns characterIstIc of ergatlvlty, patterns whIch persIst when 
usIng English words. However, varIous factors both In the standard Nlsgha 
language and In the Interlanguage may obscure the sIgnIfIcance of these 
patterns for the casual observer, and Isolated data, especIally those obtaIned 
by translatIon, may gIve the appearance of accusatlvlty. DecIsIons about how 
to characterIze the language cannot be made on the basIs of a few sentences 
of the linguIst's own choosIng. It Is necessary to work wIth many, larger 
samples of Nlsgha speech unInfluenced by English structure, especIally from 
older speakers. 17 

Ergatlvlty (accordIng to Its tradItional defInItIon) Is not an easy concept for 
most linguIsts to get Into. In many respects, It Is the mIrror-Image of 
accusatlvlty, the pattern consIdered 'natural' by most Western lingUIsts 
because of the bIases of theIr own linguIstIc background 18. As wIth an 
actual Image In a mIrror, the concept of reversal may be easy to grasp 
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Intellectually, but workIng with It In practIce Is much more difficult: most 
people have little trouble with the reversal of one dImensIon, such as wIth 
rIght becomes left, or front becomes back, but havIng to reverse the other 
dImensIon at tile same time can take a lot longer to get used to: the mIrror 
Image seems to InsIsts on goIng In the wrong dIrectIon. SImilarly, most 
Western llngulsts have no trouble dealing with some of the manIfestatIons of 
ergatlvlty, usually the morphology, but fInd others very puzzllng, even 
aberrant, and try to reduce them to a famlllar pattern; thIs Is especIally true 
of syntax. 

Nlsgha speakers have had to face the opposIte problem when tryIng to square 
accusatIve English structures with theIr famlllar ergatIve patterns. How 
they have solved thIs problem makes perfect sense when consIdered from the 
Nlsgha language poInt of vIew, however unusual the solutIons may seem to 
English speakers. To anyone InvestIgatIng not only the Nlsgha language, but 
ergatlvlty In general, thIs poInt of vIew deserves to be heard. 

APPENDIX 

A sIngle noun In a dependent transItIve clause may be Interpreted as eIther 
Agent (the most likely case, especIally If It Is anImate) or Object. To show 
the relatIve frequency of these two InterpretatIons, I gIve all the relevant 
examples from one short legend ( Boas 1902: 1 02-1 07). (The begInnIng of thIs 
story Is also presented at the end of Boas 1911, wIth a detailed morphemIc 
analysIs whIch the reader can compare to mIne). The story Is summarIzed as 
follows: 

A group of chlldren were In the habIt of playIng InsIde a huge hollow log 
on the beach. One day an exceptIonally hIgh tIde carrIed the log far off 
to sea. BecomIng hungry, the chlldren were able to catch seagulls by 
smearIng the log wIth theIr own blood, to whIch the gulls' feet got 
stuck. One day they found themselves caught In a whlrpool, but they 
were rescued by Only-One-Leg, a seal hunter who harpooned the log and 
contInued to look after them. When they expressed a desIre to go back 
to theIr families, he lent them hIs magIc canoe, whIch he kept 
well-hIdden under a cover of little trees; thIs was a wIse precaution 

• '7 ~ 
sInce the canoe was actually Laa~woosa'a la:~wo:sa?, the 
cannIbalistIc monster wIth a voracIous mouth at each end. The children 
were able to return safely home. 

Passages relevant to the dIscussIon are gIven In brIef contexts In Modern 
Nlsgha orthography and In translatIon; only the crucIal portIons, Indicated In 
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bold type, are given In morpheme-by-morpheme transcription as well. Object 
pronouns necessary In EngliSh but not In Nlsgha are underlined. References 
are to page and line number. 

102.8-9 Nilll k'ii lI{Jxw pdalks, nilll k'j/ gigyookslll wiifl.an. nilll k'ii 
{Jkws'ulkskwt,· nlgll wllaaxlll k'ubalk'lhlkw. 

Then It was high tide again, and the huge log floated and drifted out to 
sea; the children dId not realize 11. (Clausal 0) 

nl:-kYI:-t Wlllx=K kupa:=tkYl.rk w 
not-INT -3ERG know.s.=NC Iittle.Pl=chlld 

104.2-3 Nigit di'ailllkwd{itlll dim liibaykwdiit-gi." tt'algwilgwalkwlll 
,gats'u{Jbeek'diit alllgan. Nlhl k'/ll do!.hl k)'oolhl hlgulk'lhlkw. 

They [the seagulls] were unable to flyaway: their webbed feet had dried 
stuck to the log. Then one child took ltwo.. 

hl=>tkYI:-t t6Q=.rkY~:1=1 J1<U=tkY'l.l1<,w 
that's=NC and-3ERG take.s.pl.=NC one.person=NC lIttle=chlld 

104.11-12 Hlaa l{Jut'/Pllitkwlll wii,gan ahl dlmt hlo!.'kwhl 
anlk'ulllblkskw. 

The huge log was up-ended, about to be swallowed by a whirlpool (lIt. 
so that a whIrlpool was about to swallow 11) 

?a=,i t3m-t .r6qkw=) ?antkulllPlkSkw 
PREP=NC FUT-3ERG swallow.s=NC whirlpool 

105.1 Nigi; daxwlll k'ubatk'ilJlkw: dlllmootgwlhi gat-gl. 
The children did not die: the man had rescued 1b.ml.. 

t3-13-m6:tkW-3=jkYat==kYI7 
COM-Pl -saved-CTl =NC man==DI ST Al 

, , 
105.2-3 ~iiIJiltlll ~'ubatk'illlkw, nlhl k'/I yukwt qool'ans 
,.!'am-K'lIlm-Asay. 

There were many children, and Only-One-leg was feedIng ltwo.. 

, ' " '\' ).' nl=,l'kYI: yukW-t t~6:Qan=s [t] Qam-kYIl-m ?asClY 
that's=NC and AUX-3ERG feed.s.pl=DC [OM] only-one-ATTR leg 
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105.2-4 Hlaa iskwlll,gageewit alii i/;!,',88nllt Wl/88 g8hlkwhl g8t-gi. 
Now the area between his house and the beach reeked of seals; the man 

kept on spearIng ltwo.. 

Qanl:-t wlla: ky~w=.Yky~t==kYI 
contlnulng-3ERG how spear.s.=NC man==DISTAl 

105-9-10 Nilll k 'iifl.aniit w;laa galllkws j{'am-K'iiim-Asaylll ;/5., nilll k'lI 
.Ranll wllaal baKWlll/.ahl k'ubalk'lhlkw. 

Only-One-leg kept on spearing seals, and the children kept on 
carryIng ltwo. up [to hIs house]. 

, , , 
nl=,nYI: Qanl: wlla:-t pa~=w(]Q-3=Hupa:=tkYlt1<w 
that's=NC and continuing how-3ERG uph111=transport.s.pl.-CTL=NC 

11 ttle.Pl =chlld 

., " t 

106.2 l!'algyOOIII maaliy duuw,' dIm hooylslm. 
My canoe Is moored just over there; you w111 use 11. 

t3m h6:x-3-s3m 7 
FUT use.s.-CTl -2P 

, '" 7 106.7-8 Nlhl k'/ll glda4s,K'am-K'lIlm-Asay: 'iliimisim wada?H Nlhl 
k'/lt nlltkwhl k'ubatk'lhlkw. 

Then Only-One-leg asked ltwo.: "Did you find It?" and the 
children said no (lit. ... denIed 11),(Clausal 01 

" /, " \' ),. nl=J'kYI:-t kYlta~=s [t] qam kYIl-m ?as<.1Y 
that's=NC and-3ERG aSk.s.o.=DC [DM] only one-ATTR leg 

hl=.tkYI:-t n(:tkw=..ikupa:=tkYlJ1<w 
that's=NC and-3ERG deny.s.=NC Ilttle.Pl=chlld 

107.1-2 Nigit moot'inIJl dim sfl.ayeet loot: jldaat s.!layo~kwhl ga~ ;,,'111 
kilt gipt 

It did not spare anyone who went In front of It: If a person went In 
front of 11. It ate him. 

c3ta:-t sqa=y6~kw=nYat 
If-3ERG In.the.way=follow.s.=NC man 

In 6 pages, there are 9 Instances of dependent transitive clauses with 
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understood nominal Object, where the single noun In the clause co-refers 
with the ERG clltic pronoun, and 2 Instances with understood clausal Object. 

In contrast, there are only 3 Instances where the single noun Is the Object, 
and does not co-refer with the ERG pronoun: In each case, the Object noun 
refers to an Inanimate: 

104.3 Nlhl k'iit Iwhahlt 'uxwt 'akwhl t"lmlanxt 
Then he wrung their [the seagulls'] necks. 

~ , "''' 7 nl=J'I<YI:-t lu:=har=tuxw)t~kw=ltaml'n)(-t 
that's=NC and-3ERG In-parallel-PUwrlng.s.=NC neck-3 
, , 

101.13 Nlhl k'ilt gahlkwhl wll.!lan .. . 
Then he speared the huge log .. . 

nl=lkYI:-t kYa.M<w=l *1: qifn 
that's=NC and-3ERG spear.s.=NC big tree 

, 
106.12-13 Nlhl k 'fIt saat 'ahlfM hlflU .!lan-fit. 

Then he removed the 1ftUe trees [that concealed the canoe]. 19 

,7) 
nl=J'I<YI:-t sa:=t3r-a=l Jlcu q'n==kYI 
that's=NC and-3ERG off=place.s.pl.-CTL=NC little tree==DISTAL 

Where an animate or a human Object Is mentioned (In 2 Instances), the 
singular Agent Is Indicated by an overt noun (In bold type) as well as by the 
cl1tlc pronoun, preventing ambiguity: 

• 
105.12-13 Nlhl k'lIt am.,goohl k'ubatk'lhlkwhl hla.fl.alaandllt. 

Then the children remembered those they had left behind. 

, 'y ", ! nl=J'k I:-t ?amQo:=J"kupa:=tKYlJtw=y.ta Qalcf:n-tl:t 
that's=NC and-3ERG remember.s.=NC IIttle.PL=chlld the behlnd-3P 

106.3-4 Nlhl k'l,t hashfts K"am-K'I},m-Asayhl k'ubatk'l'l1lkw. 
Then Only-One-leg sent the children [on their way). 

"y I " ,), 
nl=},k I:-t has)hlc~l[t] qam kYtr-m ?as~y=.t kupa:=tkYlhw 
that's=NC and-3ERG PUsend.s.=t;>C][DM] only one-ATTR leg=NC 

IItt le.PL =chlld 
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There are also 4 Instances of an overt Object noun where the ERG clltlc 
pronoun Is reinforced by the Animate plural suffix showing plural Agent20. 
As this pronoun cannot co-refer with a noun In the same clause, the single 
noun Is unambiguously the Object. 

NOTES 

* Nlsgha /nISQ~?/ [nlsG~?~] Is one of the Tslmshlanlc languages, spoken In 
the Nass valley of British Columbia. The data presented here were 
collected during the course of my employment with the BIlingual/Bicultural 
Centre of B.C. School District -92, In 1977-80, In the summer of 1982, and 
In 1983-87. Analytical work on the language was supported by SSHRC 
doctoral fellowships held at the University of Victoria In 1981-82 and 
1982-83. I have had the privilege to learn what Nlsgha I know In Its natural 
environment, from excellent speakers. I especially wish to thank, In 
alphabetical order, Mrs. Audrey A. Gosnell, Mrs. Nita Morven, Mrs. Rosie 
Robinson, Mrs. Verna Wlll1ams, all present or former teachers of the Nlsgha 
language, and Mr. Harold Wright, who Is an elder and a hereditary chief In the 
Eagle clan. Mr. Bert McKay, coordinator of the BIlingual/Bicultural Centre 
and a hereditary chief In the Frog/Raven clan, arranged for me to have access 
to these and other resource persons. The conclusions III this paper are my 
own, and I alone am responsible for any errors. 

1 As for Instance In the following Quote (Belvin 1985:60): 
... most of Tarpent's arguments either show an Intransitive agent 
[=SUbject] patterning with a transitive patlent[=Object] or else 
show that the transitive agent Is treated differently from any 
other type of argument. But notice that this does not really 
establish Nlsgha as S[yntactlcally]-ergatlve as /1arantz and levin 
have defined It. [Italics mine). 

2 My Interpretation of this fact Is that the pronoun Is the grammatical 
Agent, and the noun Is an adjunct which Indicates the semantic referent of 
the pronoun. Jelinek 1986 discusses whether the co-referent noun Is Agent 
or adjunct, and follows Belvin In considering that the pronoun functions as an 
agreement marker. I believe this Is Incorrect and derives from Belvin's 
misunderstanding of a statement In Tarpent ms [19811. In any event, which 
Interpretation Is correct does not affect the conclusions In this paper. I use 
the term 'Agent noun' or 'nominal Agent' Instead of the more cumbersome 
'Adjunct-to-Agent noun', since the noun Is the semantic Agent. 

3 Data are given both In the standard Nlsgha orthography (Initially developed 
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by Bruce Rigsby), which Is a broad phonetic transcription, and In a basically 
phonemic morpheme-by-morpheme transcription, Ignoring the 
morphophonemic changes which are represented In the standard orthography. 
This second transcription also Includes primary and secondary stress. 
English names are not transcribed, but stress on them Is Indicated. 

4 Deletion of elements between square brackets Is phonologically 
conditioned. I did not recognize the deletion of the singular determinate 
marker t after lsI until my 1986 paper, where It was mentioned In a 
footnote but not Incorporated Into the morpheme-by-morpheme description. 

S Abbreviations: AHR attributive; AUX auxiliary; CAUS causative; CTl 
control (two different but associated suffixes); COM comltatlve; ERG 
ergative; DC determinate connective; OM determinate marker; FUT future; 
IND Indirect pronoun; INT Intensive; NC non-determinate connective; Pl 
plural; PROG progressive; a question. (The verbal suffix -a- Identified here 
as Control was erroneously called Ergative In my previous papers written 
between 1982 and 1986). 

Morpheme separators: - separates most morphemes, Including pronominal 
clltlcs; ) follows a reduplicated syllable; = separates a procl1t1c (adverbial) 
from the following element, or a connective from a preceding element; _. 
separates a postclltlc (evidential) from the preceding element. 

6 The sentence would be grammatical without the 3rd person Indirect 
pronoun loot lo:-t, but not Idiomatic; Its presence here has a contrastive 
role and Indicates the change from one partiCipant to another. 

7 The second clause In this example Is an Independent one, In which there Is 
no ERG pronoun. The use of verbal suffixes also differs between dependent 
and Independent clauses, cf. (11). 

8 See note 2. 

9 In an Independent clause, there cannot be ambiguity, because the Agent 
pronoun does not cooccur with a noun: 

Hlim()()IT/it t Peter/HlimoomitlJl gat 
S/he helped PeterlS/he helped the man 

llm6:m-a-t t~/ ... =.tkYat 
help.s.-CTl-3 OM P.I ... ·NC man 
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Hlim()()IT/is Peter/HlimoomilJl gat 
Peter helped hlm/her/The man helped hlm/her 

Alm6:m-a=s [t] ~ 1 ... =.1'kY~t 
help.s.-CTl=DC [OM] P. I ... =NC man 

10 A translation error In Boas 1902 (123:12) can be partially traced to the 
SAE (Standard Average European) speaker's expectation that the noun 
following the verb Is Its Object: In one of the stories, the hero, TS'ak, makes 
a grand first entrance as a shaman, surrounded by various little birds; he Is 
carrying one bird, and ... 

... AilJl k'lit walxlJl k'eegwiIJllJlgu ts'wts'IJl andalJaseeks Ts'ak. 
nl=l'kYI:-t w~)X=lkYhw-a=A' A1<u cb:c=] ?anta-has~:q..s [t] C~kY 
that's=NC and-3ERG carry.s.=NC one[anlmal]-CTl=NC little blrd=NC 
container-rattle-DC [OM] Ts'ak 

The meaning Is: 

... and one of the little birds carried Ts'ak's rattlebox. 
., ., , 

Instead, Boas Interprets k'eegwilJllJlgu ts'tluts' kY~:kw-a=.l Jku cd':c 'one 
little bird' as the object of the verb; the other noun andaIJasee!... 
?anta-has~:q 'rattlebox' has to find a place In the sentence: Boas' 
Interpretation (which leaves aside the noun Ts'ak) Is 

... and he carried a little bird named Rattlebox. 

To be fair to Boas, he collected the tales under very difficult conditions. 
They were slowly dictated In Nlsgha, and translated through the medium of 
Chinook. Faced with having to translate 'rattlebox', the translator may have 
said something like 'that's what It's called', meaning the name of the object, 
while Boas thought he meant the name of the bird. 

11 Number agreement Is not always automatiC, as the verb stem usually 
Indicates the number of actions performed rather than the number of objects 
the actions apply to. Usually these numbers agree, as In (19), and also In 

(a) Quc-a-t=l q(s-t 
cut.s.-CTl-3-NC halr-3 

(b) qas)quc-a-t=l.ra'qs-t 
PU cut.s.-CTl-3=NC nall-3 
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!.'ojitlJl.fI.est 
S/he cut h. hair 

!. 'as!. 'ojitlJllJla!.st 
S/he cut h. nails 

.. 
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but they may differ, as In 

(c) Qas)QUc-a-t=A' ?an~:x 
... bread 

(d) na:=hs)i(s-a-t=)' pt6? 
In.one.spot=PUhlt.s.-CTL - 3=NC door 

l'as,t.ojltlll anaax 
S/he sliced the bread 

naat '1st 'Isltlll pdo 0 
S/he knocked at the door 

(gave several knocks) 

where the plural verb stem Indicates a plurality of actions, performed on a 
single Object. 

12 The transcription and morpheme description have been corrected where 
needed. 

13 The N-Engl1sh data here come from written work by young students (who 
are largely monol1ngual In the local variety of English) and utterances and 
translations by older persons. Some sentences have been Slightly edited, but 
their use of deletion has been maintained. Not all speakers of N-Engl1sh 
would consider all of these sentences well-formed, but they occur often 
enough to 11lustrate a tendency that can only be explained with reference to 
underlying Nlsgha syntactic patterns. 

14 But the linguist beginning the study of Nlsgha Is unaware of this fact: 
thus Tarpent ms. (1981) and Jelinek 1986 both give this sentence type as 
normal. In fact It Is only normal for sentences elicited under artificial 
conditions, not for natural speech. 

15 The third person Singular pronoun Mt Is one of six Independent personal 
pronouns (M-pronouns); the other five pronouns all appear obligatorily In 
sentences with the structure of (30), e.g. Ga'ay nlln ky'1-a-y M:n 'I saw 
you', Ga'aynldllt ky'1-a-y Mtt:t 'I saw them', as well as (31). Only Mt Is 
normally absent from unfocused sentences, as In (30). The addition of Mt 
under the Influence of English structure then fills a gap In the pattern of use 
of these pronouns. 

16 Actually, (34), which considers the two actions as more separate than 
(33), could also be translated by two Independent clauses, without an 
equivalent for the word 'and', thus 

(34a) Yoooksltlll no 0111,' Ilmllmglt He washed the dishes; he dried them. 

21 

y6:?oks-a-t=A' n6?o.t -- 11m I (mkY -a-t 
wash.s.PL -CTL -3=NC dishes -- wlpe.s.PL -CTL -3 

In either case, the Object noun occurs only In the first clause. 

17 Boas 1902 Is an excellent source for the researcher who Is In a position 
to understand and restore the original text, but numerous errors of 
transcription and Interpretation make It too unreliable for self-study. 

18 Cf. Tarpent 1982:50-55. 

19 It Is not clear from the text whether one little tree Is meant or more' 
IIlguganXku q'n 'little tree' Is singular, but the verb stem t'alli iff ' 
Implies a plural object In modern Nlsgha. Alternately, It could have an older 
Singular meaning In this text. The meaning of saat'alll sa:=l'-" could then 
be something like 'to peel sthg off'. 

20 cf. (23b) p. 10. 
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